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HavT ferd 1 (10 Digits) in the OMR Answer
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Il 7/ answers in their own words as far
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gelenforar @i 15 faae &1 dfARkE aHT allotted for the candidates to read
fear mar &1 the questions carefully.

5 8 ¥ gﬁ?ﬂff gt @vgl 4 & — 5. This question booklet is divided into
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In Section-4, there

70 objective type questions, out o
which any 35 qves.t!ons are tq
answered. If more than 35 ques
are answered, then only first 35 iy
be evaluated. Each question carm
1 mark. Darken the circle with

/ plack ball pen against the COrve
option  On OMR Answer Shegy
provided to You: Do not
whitener / liquid / blade / nay
etc. on OMR Answer Sheet'
otherwise the result will be

invalid.

" In Section - B, there are 20 shorg

answer  type questions, each
carrying 2 marks, out of which any
10 questions are to be answereq
Apart from this, there are 6 long
answer type questions, eqch
carrying 5 marks, out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohibited.
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U - A / SECTION - a

, - 1 (e N -Sheet. Answer any 35 questions. 35x1=35
) :
A % ferg Frefertan § w w &
(A)  p=Hete
2 B - H— ”'U
(B) m 5
(C) =B
K 5 a - %
Which of t . .
colour | > he following is correct for refractive index of mean colour ( yellow
_H, +p i
A = 2 - (B) o= He T Ky
2
,_]_ +
‘C) },1 = I N l'l_l.l'
2 (D) p= 5
2. WHEIR GO S F9 61 ugt e v ac @
A ®) ¥
{C] 100 cm {D) 10 cm
Power of parallel sided glass-slab is
(A) infinity UB] zero
(C) 100 cm (D) 10 cm
3. g sol-faeuor e g ¢
B (k-1

(A)  (w, —H)A

(C) (IJU +u,) (D) (1, f]"‘r]A

[117 ] C [(A)}-9001-Ce3)  Page 30f28
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Angular dispersion is cqual 10
(A (u, -n,)A

B) - K, )
(D) (B, *P,’A

) (n, +n,)
GIeg gIeet & fere freAfafad § 7 T g ?
A f=f B  fo>Je

o €
C)  fo</ D) Sfo<<Je

o e

3 2

Which of the following is correct for Astronomical telescope -
{A] fo = fe L)Bj fa > f(
©  f,<f, D) fo<</e
g F ¢ T T eI &
(A) ¥H (B) FAd
< 1 D) 9 x10°
The value of €, in air is
(A)  zero lLB/ infinity
c 1 D) 9x10°

W-aﬂﬂﬁaﬁﬁmmmmﬁmaﬁmmm%

(A} gE m 2

€z D) JaE

The value of force acting on a charged particle in electric field is
(A) qE _ (B) %

(C) —g— Previous Pathshala(D) vaE




~1

fed 9 A 3R g & dr guaeq wifan &

1 C C
A 1= { | B
Ay  C <
B 3
. . 2
(C) 2C D =
(D) C

Equivalent capacity between A and B in figure is

¢ C

A T — | B

| C

A C =
(A) B 3

2

Cc)  2cC ‘ <
(C) D =
42T4 &1 WAl & foru frfataa § 3 | & 2
(A) p= KA : (B) p=-£‘-—

RA

L
P D) peRLA

Which of the following is correct for resistivity of a maternal ?

-RA _L
(A) P=-T (B) P=RA
(€C)  p= %L— (D) p=RLA
ferva- g5t SER B9t §
d :
(A) av (B) dx.dV
(C) av Previous Pathshala (D) Hﬁ d aﬁz’ E |




Potential gradient is equal to
X “ﬂ dx. th

(A) :

(D) None of thesc

o :L|
< <|=

(€)

dx

10. foga goiaq &1 S| A9 ¢
g @ e

(@we)(Hiet)

(A)
(€) aee-Hi (D)

S.1. unit of clectric flux is

(A)  ohm. metre (B) amperc.metre

1
(C)  volt-metre (D) _ (volt) (metre)

1. Y Q-ne 3 Fferfige § 4 o @ OF @wa T ?

A 4 B) 8
) 42 (D). ~ 100
Which of the following values of n is not possible in relation Q=ne ?
(A) 4 (B) 8
(C) 42 (D) 100
12, TF VAR i S @ wier & fg Prefataa d 99 @@ E 2

€y A ' €, d

(A) 4 (B) %
d A

(€) e A (D) 3

Which of the following is correct for the capacity of a parallel plate capacitor ?

(A) E‘:JA (B) e?q d
d A
@ A R
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faget R & wifer w2

2
(A V. R (B) V°.R
V- 2
() 3 (D) ve.R.IT.

power of clectric circuit is

A VR B) VZ.R
(C) yg— (D) V*.R.I.
urfcdta wlaara g &

W (:

© w.e OF e

Capacitive reactance is

w C

w = I O
. .
€ w.c D) =

yfertel & @HiER %0 o fetateg § =9 Ofe 99 @A e ?
TVERELCIGE (B) HWI

© fowaiR 3R Ry <A D) T H HIR TR

Which of the following is the same in parallel connection of resistances ?
(A) Potential difference

(B) Current

(C)  Both Potential difference and current

(D) None of these

D LLILE T SEET PSPPI
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6 UE & SRR e @

A)  10°mH
() 10 *mH
One henry is equal to
(A) 10°mH

(C) 10 *mH

17.

. A
(Al h‘_'0-6931

(C) T, =(0-6931)A

i 1 adioact:
Which of the following is correct for radioac

L ®
A 1o =576931

(C) T,=(0-6931)A

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

18. Fmfafad o w4 @& & ?

(A)  (1100), = (12)0

(©  (1111); =(2)o

(B)

(D)

Which of the following is correct ?

(A) (1100}, = (120

(©  (1111); =(12)o

(B)

(D)

19, g e & forg FreAffad § @ Gt e 2

(A)  AND, OR, NOT
(C)  NAND, NOR

(B)
(D)

10° mH

10 °mH

10 mH

10 ¢mH

ﬁ%ﬁﬁﬁfaaﬁi%fﬁqﬁwﬁhﬁmwﬁzﬁﬁzﬁi%?

1
T, =%

1
Ta =32

ive*element ?

.1

Iaid}.
1

Ti=3

(1001); = (12)o

(1011); = (12)0

(1001), = (12);0

(1011), =(12)y9

AND, OR
OR, NOT

revious Pathshala
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which of the lollowing is correct for fundamental gate ?

(A} AND, OR, NOT (B) AND, OR

(C) NAND, NOR (D) OR, NOT
» fafelad o &y siEforg 9@ & 2

(A) ‘4?::]3?-_{ (B) e ol

(C) [} -<hOT (D) 7A Ei?,;l'_'l

Which of the following is not charged ?
(A) Photon (B)
(C) [} -particle (D)
o1, I IR &1 GIeshiz § it {7 19 aidl §

(A) I (B)
< 3 (D)

« -particle

electron

2
4

The value of yellow colour in colour¢ode of carbon resistance is

A) 1 (B)

Cc 3 (D)

29, AIeETHIZY HITdl ®
(A)  wfay (B)

(C) °ra (D)

Voltameter measures
(A) resistance (B)

(C) current (D)

2
4

= | &g T8I

potential difference

none of these

Previous Pathshal
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23. | _sromeda g

dn e, g N
(A) 9 x 10°Nm?2c¢? (B) g x 10 “Nm :: 2
(€ 9x10'2’Nm?c? o) 9x10 12Nm“c
The value of am < is

(A) 9 x10°Nm?c™? B 9* 10 °Nm?c 2

12 N 2 2
(€) 9x10”Nm?c? (D) 9x107'*Nm~c

24, fafefEa @ ®19 dey @@t & ?

- e —» -
&) E =% B) E=qF
- bid 1 49
(C) Ez% (D) E=7% € ;?’
F
Which of the following relations is correct ?
- > - -
) E=L B E=qF
q
> g 2 1 4
©  E=3 D Eegrey
25. fagd-favya st gar @
g ' w
a 2 B
€ wq D) YJwg
Electric-potential is equal to
q w
(A) ” (B) i
€) wg D) Jwgq

[ 117 ] C |(A)-9001-CaPrevious Rp; 28




(A)

(€

(A)

(€)

(A)

(C)

(A)

(C)

(A)

(C)

(A)

(€)

(A)

(€)

[117]C

" Ferggefta foue-ameret @ .1, mves e &

g, T TS (F) R g &

cm (B) sz
cm ! (D) cm™
S.1. unit of clectric dipole moment is
cm (B) cm?
cm ! (D) cm-2
1 Ccv B 1cv!
1 cv 2 (D) 1cv?
Onc farad is equal to
1Cv B). 1cv!
1 Cv 2 (@) 1cv?
28. RN wIeTh st Retfirst S 21t &
Cv? (B) 3CV?
< cv2 (D) +cv?
3 4
Potential energy of a charged conductor is
cv? (B) 3 CV?
Loy? D) Icv?
3 4
29. wemrl-a¥ foa wlifaesw vfer s o & 2
5 (B) WH
St (D)  WTET <t st
ettt e
(A)-9001-Ci33)| - Page 11 of 28



30.

The unit of which physical quantity

\()t/ Distance (B)

(C) Energy (D)
U T geaREl @ w1 gan it g @

(A)  Freafe R G (B)
() ardfags AR (D)

The image formed by simple microscopc is

(A) Virtual and erect (B)

\Jz( Real and crect (D)

is light year ?

Time

Intensity of light

Froafae 3N 3T
et AR I

Virtual and inverted

Real and inverted

Wﬁamﬁmﬁﬁaﬁﬁaﬁqwgﬁzmgmm%?

qR-gfeed
sfagend

Farsightedness

Astigmatism

w=(u, =Kk, -1

31.
(A) ihﬁa*q&ﬂl ' (B)
(C) FRT—QQGIQIHI (D)
Which of the following eye defects is removed by convex lens ?
(A) Nearsightedness (B)
(C}  Presbyopia (D)
32. aol-faetuer emar & fore Frefafea § @19 999 @@ e ?
M, = H
(A) w=—t—o1=> (B)
Hy —1
T |
© w= (D)
Hy, — B,
Previous Pathrshrata
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which of the following relations is correct for dispersive power 4

“‘ y “‘r -
(A) w=—+—_1r (B) w=(K, = u,}(uy 1) )
My — 1
B, =1 By, -
v v'rr
> w= D w = ——
(©€) i, — (D) hy -1

frafd W STRTET T A ¢ | B (u- 3/2) § IHHT TH B

3 ~
AN 5 ® %
4 v
o 5 o 5
velocity of light in vacuum is c. Its value in glass (p=3/2) will be
3 2
N B F
4 .
© 5 Py 5
, W THTERT % foi wiei qeeRis @) s @l §
(A} fn_fe (B) fuxf(‘
S
© 7 D) Sotfe
e
The length of an astronomical telescope for normal adjustment is
A S, Se B)  foxfe
(C) Jo D)y  f,+fe
Je

, UF W TG F A & olg F G QIR §

A) 1 mm (B) 2cm

jer” 25 cm D) 1m

shaila
117 ] C |(A)-9001-C33) Page 13 of 28




Focal length of eye-lens of a healthy man 18 about

(A) ! mm (B) 2cm
(€} 25cm ‘ (D) 1m
A
36. X F « 877 Frferaa 1§ @i fawfaa & € 2
A - 4 A A-4
(A) X — Y + He (B) X— Y + He
Z z=2 2 Z z+2 2
A A+4 +
(C) ‘,,X—-’ ' Y+4Hc (D) Ax—-—-r A 4'ﬁ1’+ He
‘ z-2 2 A z+2 2
Which of the following represents the o -decay of :X ?
A A- A-
(A) ) X— 4‘1"+ 4]—]5- (B) A}(__—-) ' 4Y+ He
< z-2 2 Z z+2 2
A A+d 4 A A+d 4
C . s
(C) Ax j:_-?Y+ 2He (D) ZX_———r eo 2H£—:
37 Fefafad & #15 Sifcie &9 98182
(A)  FgH (B) _ HIEH
(C) a -0 (D) gﬁag?':f
Which of the following is not a fundamental particle ?
(A) Neutron (B)  Proton
(C) « -particle (D)  Electron
38, TV S@RY & feu Frerfefaa § #F A@fa-oE € 2
(A) 30-300 Hz (B)  30-300 kHz
(C) 30-300 MHz (D)  30-300 GHz
asting ?

Which of the following is the frequency range for TV broadc
(B)  30-300 kHz

(A) 30-300 Hz
(C) 30-300 MHz (D)  30-300 GHz

[117 ] C [(A)9001Caa] —  Page 140158




39 H'Uqu'q:“*hﬂhmf#@aﬁzrﬁqwmm??

(A)  TUEE ® W
(C)  Uferr D)

Which of the following units is correct to measure attenuation ?

(A) dcecibel (B) ohm

(€1 ampere (D) volt
40. T pUER HE-9IGF g1 2

(A} WAl

(B) ARG

(C)  HTEAvE

(D)  TH I A9 W IFEEE Al 369  A19EE 9T e

A p-type scmiconductor is

(A) positively charged

(B) negatively charged

(C) uncharged

(D) unchargc;:l at | absolute zero temperature but charged at higher

tecmperatures

41, eI WA H 30T @ AT FEG S0 G4 G &

h

(A) h B 3

h h

€ 3 (D) A
The minimum orbital angular momentum of an electron in a hydrogen atom is

h

A h ® 3

A o R

© 5 @3

[ 117 ) C |(A)-9001-C33)| - Previbage Paoh2Bala




42, TTA1 YA A HI WaATARAT €Al &

(A) 3 | (B} 4
< 5 (D) 6
Donor impurity atom has valency
(A) 3 (B 4
< S (D) 6
43, fedt onam ®Y smifsres wUEgAdl (e, ) BT €
Ay = (B) exe€q
€o
{C) €E+€ (D) €-€g
The relative permitlivity { €, ) of a medium 1S
a) = (B) = €x€q
€o
(C) E+€q (D) €E~€p
44, U fag ImEA g ¥ Fait o farga-fara w1 A AT €
1 q
1 49 B =
(A) 4ney ' r (B) aney r?
1 g
q-r D .
(©) 4n €, ol 4ney T
from a point charge g is

The value of electric potential at a distance r
1 q

—

(B) 4r €, P2

1 q
(A) =
4n € T
2
1 q
q-r D .-___
‘C) 4 EO ( ’ 4n EO r

[ 117 ] C [(A)-9001-Cisy[Previcus Paghd6=it28



A A&y - 3
Pl HARE
$ ey
(C) - .
1 T (D) FA AN ~ FA JFTA
Surlace density of charge is equal to
(A} Total charge x Total area (B) Total charge
’ Total arca
Total char
(©) Total voluxﬁi (D) Total charge x Total volume
g1 @1 WA ReRie g &
(A) 80 (B) 60
€ 1 (D) 425
The diclectric constant of water is
(A) 80 (B) 60
cy 1 - \ua( 425
R = @t gt i} forge-wifeen it &
R
4ne, R
(AJ 4 Eo (B} n 0
4n e 2
9 D) 4xe,.R
(C) R ( 0

Electrical capacitance of earth of radius Ris

v(ﬂ)/ K (B) 4rey R
4n €,

C  —%

Previ la

17 ] C |(A)-9001-C3




a8, ua vfiay aue @ e
w @ 1 F
| g
Rl
©) 1 dled « 1 314 (D) | @
One ampere is equal Lo
(A) I coulomb (B) 1 coulomb x1 second
| second
1 ohm
(C) 1 volt x 1 ohm (D) T;Bft_
49,  fagd aigd o9 H R @
(A) g B) 9
c) dlee (D) T wfey T
Unit of cletromaotive foree is
(A) newton (B) joule
(C) volt (D) ncwton/ampere
50.  eiawii & fou fmfafaa & o A

9 AC. & D.C. T agerdl @

(A)

(B)  g& D.C. %I A.C. H F& €

(€) 48 D.C. Aear P TG a1 Tl €
(D) w5 AC. Feedl H Fgil a1 geTl €

Which of the following is correct for transformer ?

It converts A.C. into D.C.

(A)

(B) It converts D.C. into A.C.

(C) It increases or decreases D.C. voltage
(D) It increases or decreascs A.C. voltage

[ 117 ] C HA)-QOOI-C(MHM%E&@?M%




S YA Ulaey . _
'l qreichld o H1 S.1 THE R

A N N
(B) Am
(€) A.m A.m
(D) N

g | umt of magnetic pole strength is

A N s

[ (B) A.m

O) A.m A.m

( (D) N
quAl & DN Y W F97 H101 1 A @

Ay 0° B)  90°

€) 45° (D) 1807
The value of angle of dip at'magnetic pole of the carth is
(}\,] 0° (B) 90°
(C) 45° (D) 180°
fratd &1 TSI T &1 7 & &
(A) 0-5% SR (B) AT
) 1% TR (D) ¥

The value of magnetic susceptibility of vacuum is
(B) infinite

(A) equalto 0'5
(D) ZCro

(C) cqual to one

qwﬂam(ujé%mﬁmfﬁﬁaﬁﬁﬁqmﬂﬁ%?

B
(A) u:%— B) nw=pg
€ p=B.H (D) p=(B+H)

7] C [(A)-9001-Ca3 " =1ov= Frdgeivlor 28



Which of the following relat

(A)

(€)

55.  gpamly anakR 1

H
po= a7

[§]

p= I3 H

e qrawia g4 B, T IV

rmenbility ?

jons I8 correct for pe
B
@ M

(D) ;1=(B+H)

B &1 39U 9TH B, & fyrafefga A @ ah & 7

(A)

(C)

If B is carth's magnetic ficld in ma

-» | ¢
horizontal component of ‘B ‘and B, is veru

B” = 1cosd

h‘“ = [3sind

(B)

(D)

the following rclations is correct ?

(A)

(C)

B” = Bcosd

B, = Bsind

(B)

(D)

56. foTE- TR o & duRw &) R B @

(A)

(€

E % 9ER

(B x B )% §HiR

(B)

(D)

gnetic meridian, 6 18 angl

= '035
By Bc

By = B”ulnb

-
cal componcent of B,

Bv - Bcosd

B, = By sind

B ¥ @R

(E x B) % GARR

The dircction of propagation of electromagnetic wave is

(A)

(C)

—_——————Previous-Pathshala

117 ] C

-

-
parallel to E

- -
parallelto( B x E )

(B)

(D)

—
parallel to B

> =
parallel to (E x B)

rﬁ'gmﬁdﬂ Bl

i e o

C Of dipr BI}

then whi#

(A)-9001-C33)
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frfelea ¥ frg Wifiss Tfer & wEfaeror wem @1 Afaeol & ¥

wom B) e
(C) T o

(D)

Interference of light is the redistribution of which of the following physical
quantitics ?

(A)  Frequency (B)  Intensity
(C) Wavelength (D) Speed
" A 1 R -gomm wle S
A I B) 3
(€) 91 %103y, D) 16 x 10 *"kg
The rest mass of photon js
(A) Zero (B) infinite
[C) 91 x 10 31 kg (D) 16 x 10—27 kg
s9. @R 1 AT v 2y &

. _1
[A] El E2 = -Ehv {B) E] - EQ = hv

P R = =3
(C) E) -E, =3hv (D) E| -E,=Zhv
Bohr's frequency condition is

1

(A) B -E,=zh B) E -E;=hv

‘ — - : — 3
(C) E, - E, = 3hv (D} E, -E, = §hv

60. d T 1 Eid GRS

(A) AR faguen (B) TN i
(C)  HeT Uil 1 faeiiod (D) A e

[117 ] C |(A)-9001-C33) %




The source of solar energy 18

(A) nuclear fission
(B) chemical reaction
(C) annihilation of clementary P”rlidcs
(D) nuclear fusion
: 7
61. ﬁ@?ﬁWm@aﬁﬂammﬁmﬁﬁﬁﬂﬁ@q%-
(A) a3 ) T
(C) @I (D) ST
Which of the following is the best conductor of electricity ?
(A) Silver (B)  Copper
(C) Gold (D) Zinc
62. NOR-§R& o qierg =disieh gidl &
(A) A+B=Y B A.B=Y
C A.B=Y o) A+B=Y
Boolcan cxpression for NOR gate is
(B) A.B=Y

(A) A+B=Y

A.B=Y \M/ A+B=Y

(C)

63. fg-amurd GE (1001), F GUHF HEA Eell ©
A)  (12)0 B)  (18ho
© Ok W2 (25ho

[117 ] C [(A-9001-Can]| | Page 23 of 28




rhe decimal number of binary number (1001), is

12
(A 1o (B) (180
(D) (25ho

(! (%ho

( FE TH MR 1 % e & o1 R A & e 6 30 S e §

B) I.R%.t

I. R 1
12.R*.t

{Al
2
iC) ! . Rt (D)

The heat produced in a conductor of resistance R duc to flow of current [I'for

time 118

(Al I. R 1 (B) !_Rz_!
€ 17 R D) 12.R%.1
5 tesla (ST 1 o=y & ayer 2 &
_ T s a2
‘ (H727)2 (B) g (Hiz3)>?
€} 5x107 ——— D) = 5= 102 @& (HeX)?
(81RY)?
Magnetic field o.f S tesla is equal to
A| 5 x weber (B) 5 x 10° webcr2
’ (metre)? (metre)
5 x 102 —Wweber_ (D) 5 x 10?2 weber x (metre)?

C

I {metrej2

FrTE] | gl oH (1,) & 9
587 YRT &7 r.m.s. AF ([, ) 3R JAEdl 4T 6 RJECEd (Io)

A) I, =0505I B) I, =0606I
€ 1, . =07071 o) I, . =0808I,
Ppgyiops Rathshala
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A
-

The relation between r.m.s. value of alternaling current U1y ns ) and peak value
of alternating current (Iy) is

(A) I, ns =0505] (B) Las = 06061,

€ 1, =0707l © s oeoste

7 mmmmmﬁmqﬁwmwmwwﬂﬁ“ﬁ

ufama &1 91§ &
LU | w-l
o L
© oI D %
L in ac circuit

Inductive reactance ‘offered by an inductor of inductancc

angular frcquency © is

(A) if- (B) w . L
-z o =
68. %W%Wﬁmﬁ@ﬁﬁaﬁamﬂwﬂ??
(A) mﬁﬁquﬁaﬂw&mwwﬁﬁxamﬁmﬁ
st T iR
T =___________..—-——'_"—
B I TP = et o ¥
el T WE
- __________.._-—-—-'-"_"
) I O = o i
(D) m’f‘aiquﬁﬁ=§[m1ﬁmwvrfmmﬁmwmﬁﬁl
Previ;g#szl?dﬂ%hala

[117]C |{A)-9001-Ct331|



(Bl Power facyoy o A

(C)  Power factor « _ True average power
Apparent average power

“JI POW(‘r faClOr =1
2| True aver age power x Apparcnt average power |
69 * & M FiT ¥ O &
) ’ | (B) 4
(C) S b 6
Value of green colour code on carbon resistance is
(A) 3 i |
SO D) 6
. - — . . .
0. TEREET B R v AN i 369 ( g ) WG A 91 F A 6
nd = - - -
(Al F,=q(VxB) V‘B’/ F, =q(BxV)
. nd (-B. XV_",'I i [-‘l}. xE)
€ = D) Fp=—0p

- .
. - ; i ficld
Expression of force on a charge g moving with velocity V in a magneuc

4-
B 1s

- - =
(A) F_=q(VxB)

-
(C) F, = 2
(A)-9001-Ci33) Previgg2Peltlishala
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g - ¥ /'8 e Queltionl
quﬁam/snortmw".m ¥ 1 AT # [T 2 iy
m#w;#zoagawﬁv?iﬁ#muﬁ*m j0%x2°2
. .. FEach qué€stlig
mriﬁm. ! to 20 are Short Answer TYpe Answer any 10 questions: E“w 2
carries 2 marks :
| i s 2 @ o i # el
Write two essential conditions of constructive interferencc.
o, 9 &) wsie A @ 9 @ @I E 2 2
What do you mcan by powcr of accommodation of eye ?
3. U A A N FHAA & 2 *
What do you mean by semiconductor ?
4. Tyt ssue ® @9 2
Explain sccondary rainbow:
5. ama-amed Frw e ?
Write Biot-Savart's law.
6. [y AR w1 WA 2
Explain electrical resonance.
el T K S ST A T @ 9 T € 7 2

What do you mean by apparcent angle of dip at any place ?
2

8. & & fraw fod|
Writc Brewster's law.
9.  ZIAEPR ¥ dmg-er i 9 |

Explain copper-loss in a transformer.
Previ ala
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1),

11.

12

13.

16.

17.

18.

19.

I 4
Explain solar cell.

wﬁuﬁm#mw«wﬁt?

Wh: :
hat do you megan by capacity of a conductor ?

3”'-' = - L b} - 1

R ST T @ ofearn %) g 51 A # e 2
Define volume density of charge. Write its S.1. unit.
P e o ) oo 3 ’

Define clectrie flux 6n a surface

TaH favg 5 qiymy 2
Define magnetie potential.

TER F P i e % fer st 91t 1 o | @/

P16 U e rrs e o ; i
Writle necessary conditions for total internal reflection of light.

RERRIDLI I UL Rt ‘ @
What do you mean by Paschen series ?

NAND-§R& & @uzm | @
Explain NAND-gate.

G HigeH ® wue | @
Explain [requency modulation.

ater () feeoi & < el =1 fed 2
Write two properties of beta ( §) rays.
n-9HT & W %I o | < 2

Explain n-type of semiconductor.
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ions
¥ IWT W9 / Long Answer Type Qu;:t;;ﬁ F | gAF # forg

| et 3wl 3%x5=1§
vy qmar 21 @ 26?’7‘#39??””7”'"* s, Each
s & fryffea & -

i
s Answer any 3 qucs

Question Nus. 21 to 26 are Long Answer Type Questions 9x5=15§
r.jL@innn carries 5 murks : 5
21, 99el A4 F form g faan gan g3 waifud &

1 1

‘]—- =(u-1) [R R—JJ

Establish the formula for thin lens given below

=(p - 1) [E— - ?‘,LJ
j 1 2 S

~ r . L =y = ’" |
22 WY YAl ) HiEds emen & e wiwe unA wd
) J —— ] nd microscope.
Find out the expression for magnifying power of compou ) .
’ LS . - = = 2 I
23 B fagda-fgya & sl v farg w3 ferege favm & 2o 2t

a small electrie
- I AVY uc to a sma
Establish the expression for cleetric potential at a point d

dipole.
- r - r ! L al 5
247 U 49T YT & -0 -5 & fequ Sdees 79 @51

rnati nt,
Find out an expression for root mean squarce value of an alternating curren
. -~
25. Wh?{maﬁu,mmaﬁaaﬁrﬁrﬁqwaﬁqwﬁésqunaﬁml 5
Write propertics of diamagnetic, paramagnetic and ferromagnetic materials.
26. {feamfeg qmaﬂawanqaﬂtmaﬂrqamwma ? teamfery g
% feru faeesy (N=N, e ) wifgm &t

What do you mecan by half-life and average

5

life of a radioactive substance 7

Establish disintegration formula (N=Nye™™) for radioactive substance,

—
b=~ —

7 ==
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